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MsVaulnA (Coding) voalisunsy

a as T [ ) L) i
dndumsidiou Taaves lsunsuumuaniorolunisimamanrsyemansIaInsuh

y;’.‘ A< gl = ] o a1 4:?
aammu"huu ﬂﬂﬂmswuummuﬂazﬂmu ﬂﬂﬂﬂllﬂu

¢ A s
vlosun 1 mywnanvaalilsunss

=T =1 - C.:f
B 1Aan15ou 931l

fprintC TUSUNTUANIMMBATHIANANT 5975 ')
fprimtf  WHIINDIDOUAIT o)
K=1;
whilc K ~= 0
o =y d’ ] or dy ar d’ P o
T = menu("3 10N 137 1IN MIAAABNDEUZIMA19 9 'Dagmondoluin 0as 1aemUounese’
mafiaion Iasans laomsainiizimsamu, msdaion 1a59013 laomsinszHens
HAROUUMN, N 159IA 5 1 on A sz Towianiuasmu Amsiziadunu »* sumsvinany #
%
A
it P==1% msfanonodssnngie 9 %
uiwail(msgbox('ﬂ'liﬁﬂﬂﬂﬂt'ﬁuﬂ’i$m'ﬂﬁN )
fprintCASAAADMBESZINAAIE i)
N=I;
while N~—=0
S :menu('n:gmu%ngﬂuwms AU, 'Single-Payment Factors : F/P''Single-Payment Factors :
P/F’'Uniform-Series Present-Worth Factor : P/A *,'Capilal-Recovery Faclor : A/P','Sinking-Fund Faclor :
A\F' "Uniform-Series Compound-Amount Factor : FAA','Gradient Faclor : PAG','Gradienl Factor :A\G'");
if S=—
% FP
spcal
elseif §==2
% PF
sppwf
elseif S==3

%PA



uspwf
elseif S=—4
%AP
crf
elseif S==5
%AT
sff
elseil S=—=6
%FA
uscal
elseif S==7

%P G

presentgra

clseif 5=—=8
%AG
annualgra

else ..
K=1

end

3 o ] =4 ] ] ar i ot
N = menu(*ABINITATUIUADH 5a"ln‘,'h','nnnqmgﬁan');

iEN—
N=1;
K=0;
else
N=0;
K=1;
end

end

%% %% %% % %%

%% %% %% %% %
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elseil T—2 %3N olinny §asnenibousivie
uiwail(msgbox('ﬁ'ﬂﬁ“mamﬁu‘lmnn ﬁmmemﬁuuﬁﬁa'));
fprintﬂ'5ﬂ51ﬂﬂﬂ!ﬁﬂluu1n SnsInenoueIdnn)
interest rate

%% % %% %% %% %% %% %% %% %

. <4 =y L [ = o = 3 =4 3 =
elseif T==3 %misnfisunen Insams lagTnyanwnoumililegiu uoz Fyanuhomswi)
- . =1 Ll ] U (=] L | ar F=¥= | 1 [= ] L]
niwait(msgbox(Masfsomnun Iazanms lagTmyaneumtlilagiiu uaz Mmyoauioumiee
1)),
fprintiCnstfioumion Insants TaoTsyashoinilagiii ez Siyaaunommnsihnn)
9] :menu('ﬂ‘gm1L5Em'gl‘ﬂL!.']J‘]JmﬁﬁTu'Jm‘,'Presenl Worlh',”Annual Worlh');
if D==1
pworth
clse
aworth_2

end

%% %% %% %% % %% %% %

elseif T==4 %n3naaen 1n3an13 laomsInTzHons Han e
viwait{msgbox(N13faen 1a33ms laoma AT 1EHORTIMARD UML),
wiwaittmsgbox( s unsez 19 180z 2 Tasamsn);
fprintC N 13fAdon In39m3 1laoms AT 12 dAT HERB LN NAY)

istar2

%% %% %% % %% %% %% %%

elseif T==5 % Isunsuinszudasidrunalss lomisonisamu
viwailimsgbox( 11lsunsuinsizudasiduwallsz lovinensaanu));
fprintf( TilsunsuTnsiwnonsrdupailse lomiaenmsaamiininn’)
inpul_example2

%% % %% %% %% %% %% %%

. = o W
elseil T==6 % hlaunsuhnaizvyadguny

T

. <y d LY
uiwanl(msgbox('j‘ﬂ‘iL!.ﬂ‘ilJ’JLﬂ'i'ISH’QﬂFI'JJ‘YIN'));

= o
fprintf 15 uN3u AR5 1R AN RN\’
= o =
B=menu(Insizigaduny, Tnsamsaey asalasims?;

if B==1



viwait(msgbox( TihunsuTinszivadumu Inssmsined));
breakeonc
else
uiwait(msgbox( Tsunpsins v gadunu avelnsamsy),
breaketwo
end
%% %% % %% %% %% % %%
else
K=0;
end
end

< :; o .; 1
vlesun 2 mansnanemiloy)szinnnigg

o =1 7] dy
VlAamsou fail

Single-Payment Faclors : /P
tunclion spcaf
done = (;
while ~done
prompt-={'Enter a value of P',Enter a value of i',Enter vaiue of n'};
dig lille = 'Present worth';
num lines = 1;
answer = inputdlg(prompt,dlg title,num_lines};
il isempty(answer) % user cancelled
niwail{msgbox('You must enter a number to continue’,'Error',' modal'))
done = I;
else
P = sir2num(answer{1});
if ~isempty(P)
ifP >0
niwail{msgbox('Please enter a *NEGATIVE* number (P<0)','Error’, modal’))

79



clse
i= str2num(answer{21});
ifi <0
viwail(msgbox('Please enter a *POSITIVE* pumber (i>0)','Error','modal’))
clse
if ~isempty(i)
n = str2numianswer{3});
ifn <0
uiwail{msgbox('Please enter a *POSITIVE* number {n>0Y),"Error 'modal'))
else
if ~isempty(n)
F = fuware(P,i,n);
done = 1;
fprintf('yaANHBUIIBUING = %0.2f \n\n',F)
else
viwait{msgbox{'Please enter a number with no alphabetical characlers’,'Error’,'modal'))
end
end
else
uiwail{msgbox('Please enter a number with no alphabelical characters’,'Error',' modal’))
end
end
end
else
uiwail{msgbox('Please enter a number with no alphabetical characlers','Error', modal'))
end
end

end
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- Function @RMIHADIUMSAINIY
function FW=Muture(p,i,N)
1=i/100;
FW=p*((1+1)"N};
end
Single-Payment Factors : P/F
function sppwf
done =0;
while ~done
prompt = {'Enter a value of F',Enter a value of i','Enter value of n'};
dlg_title = 'Present worth';
num_lines = 1;
answer = inputdlg(prompt,dlg fitle,num_lines);
iFisempty(answer) % user cancelled
wiwait(msgbox("You must enter a number to continue’,'Error','modal’))
done = I;
else
F =str2num(answer{1});
if ~isempty(F)
ifF <0
uiwait{msgbox('Please enter a *NEGATIVE* number (F>0),'Error’,'modal’))
else
i = strZnum{answer{2});
ifi <0
viwait(msgbox('Plcase enter a ¥*POSITIVE* number (i>0)','Error’,'modal’))
else
if ~isempty(i)
n = str2num(answer{3});
ifn <0
uiwait{msgbox('Please enter a *POSITIVE* number (n>0), Error’,'modal'))
else

if ~isempty(n)
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PF=present{F,i,n};
done =1,
fprintfUayyasuhoum iy = %0.26 \n\n' PF)
else
viwait(msgbox('Please enter a number with no alphabetical characters',Error','modal’))
end
end
clse
viwai(msgbox('Please enter a number with no alphabetical characters',Error','modal’))
end
end
end
else
uviwait(msgbox('Please enler a number with no alphabetical characters', Error','modal’))
end
end
end .
end
- Function aNM3HANIUMIMIUIU
function PF = present{f,i,n)
j=#100;
PF = PH(1/(1+)"n);
end
Uniferm-Series Present-Worth Factor : P/A
function uspwf
done = ()
while ~done
prompt = {'Enter a value of i','Enler a value of n','Enter a value of A’,Enler a value of nl (Begin),'Enler
a value of n2 (End)'};
dig title = "Uniform-Series Present-Worth Factor';
num_lines = 1;

answer = inpuldlg{prompt,dig_litle,num_lines);
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if isempty(answer) % user cancelled
uiwail(msgbox("Y ou must enter a number to continue’,'Error','modal'))
done =1,
else
i = sir2num{answer{1});
if ~isempty(i)
ifi<0
uiwail{msgbox('Please enter a *POSITIVE* number (i>0),'Error’,'modal’))
else
n = strZnum{answer {2});
il ~isempty(n)}
A = str2num(answer{3}};
if ~isempiy(A)
nl = sir2Znum(answer{4});
if ~isemply{n!)
n2 = si2num(answer{5});
if ~isemply(n2)
nn = nl:mn2;
ny=size(nn};
% ¥1f1 a 59U
PA=annual(A,iny(1,2));
=PA;
nny =nl-1;
ifnl>1
% WiiannIamm
PF = present(f,i,nny);
fprint ((nyyan wnotm u Uilagiiv fishmneniioso.onesisuiaetl = %0.2F WM’ PE)
else
fprintC\nyanAunouem o Yilagiiu fsnaneniSuv0.ondofimunansl = %021 1Mn\n\n’,i,PA)
end
done=1;

else



uiwail(msgbox('Pleasc enter a number with no alphabetical characters',"Error','modal'))
end
else
uiwail(msgbox('Please enter a number with no alphabetical characters','Error','modal’))
end
else
viwait{msgbox('Please enter a number with no alphabetical characlers',Error',' modal'))
end
else
uiwail{msgbox('Please enler a number with no alphabelical characters’, Error’, modal'})
end
end
else
viwait{msgbox('Please enter a number with no alphabetical characters','Error’,'modal’))
end
end”
end.
end
- Function aumsHanlumininmm
function PA=annual(a,b,n)
Fb/100;
PA = a*({(((1+1)"n)-1 /(i*(1+i)*n));
end
function PF = present{f,i,n)
j=1/100;
PF = £F(1/(1+)) n);
end
Capital-Recovery Factor : A/P
function crf
done = 0;
while ~done

prompl = {"Enter a value of P, Enter a value of ' /Eniter value of n'};

84



dlg tiile = 'Capilal-Recovery Faclor’;
num_lines = 1;
answer = inputdig(prompt,dlg_title,num_lines);
if isemply(answer) % user cancelled
uiwait(msgbox('You must enter a number to continue','Error’,'modal'})
done = 1;
done 2=1;
else
P = str2num{answer{1});
if ~isempty(P)
ifP<0
viwail(msgbox('Please enter a *NEGATIVE* number (P<0),'Error', modal')}
clse
i = str2num{answer{2});
if ~isemply(i)
<0
uiwail{msgbox(Plcase enler a *POSITIVE* number (i>0),'Error,'modal’))
else
n = str2numianswer{3});
if ~isemply(n)
in<0
viwail(msgbox('Please enter a *POSITIVE* number (n>0),'Error’, modal'))
else
done = |;
done_2 =0;
end
else
uiwail{msgbox('Please enter a number with no alphabelical characters’,Error','modal'))
cnd
end
else

viwail(msgbox('Please enler a number with no alphabetical characters', Error','modal’))
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end
end
else
viwail{msgbox('Please enter a number with no alphabetical characters',Error’ 'modal'}))
end
end
end
while ~done 2
prompt = {'Enter valuc of n} (Begin),'Enter a value of n2 (End)'};
dlg_title ="Ans";
num_lines = 1;
answer = inputdlg(prompt,dlg_title,;pum_lines);
if isempty{answer) % user cancelled
uiwait{msgbox(’You must enter a number to continue','Error’,'modal’))
done 2=1;
else
nl = sirZ2num(answer{1});
if ~isempty{(nl)
ifnl <0
viwail{msgbox('Please enter a *POSITIVE* number (n1>0})','Error’,'modal’))
else
n2 = str2num{answer{2});
if ~isempty(n2)
ifn2 <0
uiwail(msgbox('Please enter a *POSITIVE* number (n2>0),'Error’,'modal’))
else
nn=nl-1;
nnn = nl:n2;
ny=size(nmn);
% Tonm P 1’1 A Aouusn

FP =future(P,i,nn);
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% I A

AF = capilalp(FP,i,ny(1,2));

fprintf(\nf1 A = %0.01 M ) HuNng U ', AF)
done 2=1;
end

else

viwait(msgbox('Please enter a number with no alphabetical characters',’Error’,/modal’))

end

end
else

viwait(msgbox(‘Please enter a number with no alphabetical characters','Error','modal'))

end
end
end -

- Function aum3naniumsium
function FW=fuire(p,i,N)
1= /100,
FW=p*((1+1)"N);
End
function AP = capitalp(P,i,n)
c=H100;
AP =P*{((c*(1+c) n)/((()+c) n)-1));
end
Sinking-Fund Factor : A\F

fonction sff
done = 0;
while ~done
prompi = {'Enter a value of F','Enler a value of i',Enter value of n'y};
dlg_tille ='Capilal-Recovery Faclor';
num_lines=1;
answer = inputdig(prompt,dlg_title,num_lines);

if isempty(answer) % user cancelled



uiwail(msgbox("You must enter a number to continue','Error',modal')}
done = [;
done_2=1;
else
F = str2Znumf{answer{1});
if ~isempty(F)
HF<0
uiwait{msgbox{'Please enter a *POSITIVE* number (F>0),'Error’ Jmodal’))
else
i = str2num{answer {2}),
if ~isemply(i)
ifi<o
viwait(msgbox('Please enter a *POSITIVE* number (i>0)',Error','modal’))
else
n = str2num{answer{3});
if ~isempty(n)
Hn<0
viwail(msgbox{'Please enter a *POSITIVE* number (n>0)','Error','modal'}}
clse
done = 1;
done_2 =0;
end
else
wiwaitl(msgbox('Please enler a number with no alphabetical characters',Emror','modal'))
end
end
else
uiwait{msgbox('Please enter a number with no alphabetical characters','Error','modal'}))
end
end
else

viwait{msgbox('Please enter a number with no alphabetical characters','Error’,'modal’))



end
end
end
while ~done 2
prompt = {"Enter value of n1 (Begin)','Enter a value of n2 (End)'};
dig_title =’Capital-Recovery Factor';
num lines = 1;
answer = inputdlg(prompt,dlg_title,num_lines);
if isempty(answer) % user cancelled
niwait{msgbox("You must enter a number to continue','Error’,'modal’))
done 2=1;
clse
nl = str2num{answer{i});
if ~isempty(nl)
ifnl <0
viwait(msgbox('Please enter a *POSITIVE* number (n1>0),'Error’,'modal’))
else
n2 = str2num(answer{2});
il ~isempty(n2)
ifn2 <0
wiwail{msgbox('Please enter a ¥POSITIVE* number (n2>0Y,'Error','modal’))
else
nn=n-n2;
nnn = nl:n2;
ny=size(nnn);
% Ton w1 I3ilgawiitimsasqundoie
il nn==0
PF = present(F,i,1);
end
if nn>0
PF = present(F,i,nn);

end
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% WINIMInNIz1ead lios A

AW = sinkingf(PF,i,ny(1,2));
fprintf’im A nszvwaaluils %0.0r A95IR %0.00= %0.21 1 9 NN ) kel nl 02, AW)

done 2=1;
end

clse

uiwait{msgbox('Please enler a number with no alphabetical characters','Error’,'modal'’))

end

end
else

viwail{msgbox('Please enter a number with no alphabetical characiers',Emor','modal’))

end
end--
end

- Function 8UMISAANTUM MUY
fimction PF = present{f,i,n)
i=i/100;-
PF= f*(1/(1+))"n);
end
function AW = sinkingf{F,i,n)
c=1/100;
AW =T*(c/(((1+c)*n)-1));
end
Uniform-Series Compound-Amount Factor : F\A

function uscaf
done =0,
while ~-done
prompt = {'Enter a value of i','Enler value of n','Enter a value of A’,Enter value of n1 (Begin)','Enter a
value of n2 (End)'};
dig_litle = 'Uniform-Series Present-Worth Factor';
num_lines = 1;

answer = inputdlg(prompl,dlg_1itle,num lines);
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if isenpty(answer) % user cancelled
uiwail{msgbox("You must enter a number lo continue',’Error’,'modal’))
done = 1;
clse
i = str2num(answer{1));
if ~isempty(i)
ifi<0
niwait{msgbox{'Plcase enter a *POSITIVE* number (i>0)','Error’, modal’)}
else
n = sir2num{answer{2});
if ~isempty(n)
ifn<0
viwail{msgbox('Please enter a *POSITIVE* number (n>0),'Error’,'modal’))
else
A = strZnum{answer{3});
if ~isempty(A)
ni = str2numianswer{4});
il ~isempiy{nl)
ifnl <0
uiwait{msgbox('Please enter a *POSITIVE* number (n1>0),'Error’,'modal’))
else
n2 = str2Znum({answer{5});
il ~isempty{n2)
ifn2<0
uiwail{msgbox('Please enter a *POSITIVE* number (n2>0),'Error’,'modal'))
else
nn = nl:n2;
ny=size(nn);
FA = seriesf(A,i,ny(1,2));
nny =n-n2;
FP =future(FA,i,nny);

fprintC\nyan WHOINIDAA & T %0.07 = %0.2f ',n,FP),;

9



done=1;
end
else
uiwail{msgbox('Please enter a
end
end
clse
miwail(msgbox('Please enler a
cnd
else
niwail(msgbox('Please enter a
end
end
else -
viwail{msgbox('Please enter a
end
end
else’
uiwait{msgbox('Pleasc enter a
end
end
end

end

number with no alphabeltical characters',Error','modal'))

number with no alphabetical characters',Error','modal’}}

number with no alphabetical characters', Error', modal’)}

number with no alphabetical characters',’Error','modal'))

number with no alphabetical characters', Error',’modal’))

- Function aumﬁﬂffn‘lunﬁﬁmm

funclion FA=series{{a,c,n)
i=c/100;

FA = a*((((1+iy*n)-1)i);
end

function FW=Muture(p,i,N}
1=i/100,
FW=p*((1+1)*N);

end
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Gradient Factor : P\G
function presenigra
L=menu('nﬁﬂnm'if‘im'm','fiﬁh'%"ué’fuua:fhﬂ:nmmnﬁimﬁ1ﬁ’u','fiﬁh?uﬁ’uuathmmunneha’hi
i ndn T “SaswdmidufinGousiaaanmay;
ifL=—
done = 0;
while ~done
prompt = {'Enter a value of i",Enter value of n'};
dig title ="Input for compound function’;
num _lines = I;
answer = inputdlg{prompt,dlg litle,num_lines);
H isempty(answer) % user cancelled
uiwait(msgbox("You must enter a number to continue’,'Error','modal’))
done=1;
done 2 =];
else
i= str2Znum{answer{1});
if ~isempty(i)
iti<o
uiwail{msgbox('Please enter a *POSITIVE* number (i=0)','Evror’,'modal'})
else
n = str2numi(answer{2});
if ~isempty(n)
ifn<0
viwait{msghox('Please enter a *POSITIVE* number (n>0),'Error’,'modal'))
else
done=1;
done 2 =0;
end
else
uiwait(msgbox('Please enter a number with no alphabetical characters', Error','modal’))

end
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end
else
niwait(msgbox('Please enter a2 number with no alphabetical characiers’,Error’,'modal’))
end
end
end
while ~done 2
prompt = {'Enter a value of G',Enter value of n1(Begin)','Enter value of n2(End)'};
dlg_title = "Input for compound function’;
num_lines = I;
answer = inputdlg(prompt,dig title,pum_lines);
204G = str2num(answer{ });
ant = str2num(answer{2});
%n2 = sir2znum{answer{2});
if isempty(answer) % uscr cancelled
niwait{msgbox('You musl enter a number to continue','Error','modal’))
dope. 2 =1;
else
G = str2znum(answer{1});
if ~isempty(G)
nt =str2num{answer{2});
if ~isempty(ni)
ifnl <0
uiwail{msgbox('Please enter a *POSITIVE* number (n!>0),'Error',modal’))
else
n2 = str2znumf(answer{3});
il ~isempty(n2)
ifn2<0
uiwait{msgbox{'Please enter a *POSITIVE* number (n2>0),'Error','modal’))
else
nn=nl:n2;

ni=size(nn);



ifnl<=2
ny=ni(1,2)+1;

end

ifnl>2

ny=ni(1,2),

end
PG=gradientp(G,i,ny);
%nk=[1:(nl-1)]
np=nl-2;

ifnp>1
PW=presenl(PG,i,np};
else

fprintiCyan unoum o aanu = %0300’ PG)

end
done 2 =1;
end
else.
uiwait(msgbox('Please enler a number with no alphabetical characiers’, Error','modal'))
cnd
end
else
niwail{msgbox('Please enter a number with no alphabetical characters', Error','modal’))
end
else
viwait{msgbox(‘Please enter a number with no alphabetical characiers','Error','modal'))
end
end
end
elseif L==
one = 0;

while ~done

prompl = {'Enter a value of i',Enter value of n'};
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dig title ="Input for compound function’;
num_lines = 1;
answer = inputdlg(prompt,dlg title,num_lines);
%i = str2numf{answer{1});
%n = str2num(answer{2});
if isempty(answer) % user cancelled
uiwait{msgbox("You must enler a number (o continue’,'Crror,'modal’))
done=1;
done 2 =1;
else
i = str2num(answer{1});
if ~isempty(i)
ifi<0
viwait(msgbox('Please enter a *POSITIVE* number (i>0)','Error','modal’))
else
n = str2znum(answer{2});
il ~isempty(n)
ifn<0
wiwait(msgbox('Please enter a *POSITIVE* number (n>0},'Error’,'modal'})
else
done=1;
done 2 =0;
end
else
uiwail{msgbox('Please enter a number with no alphabetical characters','Error',/modal’))
end
end
else
viwail(msgbox('Please enter a number with no alphabetical characters', Error','modal’))
end
end

end

96



while ~done 2
prompt = {'Enter a value of A',Enter a value of G',Enter value of n1(Begin),'Enter value of
n2(End)'};
dlg_titte = "Input for compound function’;
num _lines=1;
answer = inputdig(prompt,dlg_title,num_lines);
if isempty{answer) % user cancelled
viwait{msgbox('You must enter a number to continue’,’Error','modal’))
done_2 =1;
else
A =strZnum(answer{1});
if ~isemply(A)
G = str2num(answer{2});
if ~isemply(G)
nl = str2num(answer{3});
if ~isempty(nl)
ifnl <0
viwait(msgbox('Please enter a *POSITIVE* number (n1>0),'Error,'modal’))
else
n2 = str2num(answer{4}};
if ~isempiy(n2)
ifn2 <0
uiwait(msgbox('Please enter a *POSITIVE* nomber {n2>0),'Error'modal’))
else
nn=nl:n2;
ni=size(nn);
ny=ni(1,2);
PG=annual(A,i,ny Hgradientp(G.,i,ny);
PW=present(PG,i,(nl-1));
fprintiCyaannouh o ey = %031 v PW)
done 2 =I;

end



else

uiwail(msgbox('Please enter 2 number with no alphabetical characters',Error','modal’))

end
end

else

uiwait{msgbox('Please enter a number with no alphabetical characters','Eror’,'modal’))

end

else

utwail{msgbox('Please enter a number with no alphabetical characters',Error','modal’
g ¥ 3

end

else

uiwait(msgbox('Please enter a number with no alphabetical characters’,'Error','modal'’))

end
end .
end
else

end-

- Function a4n13n anlumsAIu

function PG=gradientp(g,i,n)
c¢=i/100;

PG=g*{{(1+c)"n)-(c*n)}- 1 ¥{(c 2)*(1+c} n));

End

function PF = preseal({,i,n)
}=1i/100;

PF = {*{1/(1+)*n);

end

funclion PA=annual(a,b,n)
i=b/100;

PA = a*(({((1+1)*n)-1)/(i*(1+i)*n));

end
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Gradlient Factor :A\G
function annualgra
% AG %
L=menu(15'anmﬁﬁmm’,'dﬁlféuﬁuLm:fhmmnmne‘hmhﬁ'u','ﬂ'ﬁh’%"uﬁ'mmzﬁmmmmnﬁw'lu'
i b Ty SnszRausunnaoulosmunar);
if L==1
done = 0;
while ~done
prompt = {'Enler a value of ', Enter value of n'};
dlg title = "Input for compound [unclion';
num_lines = 1;
answer = inputdlg(prompi,dig_title,num_lines);
%t = str2num{answer{1}};
%n = strZznum{answer{2});
if isemply(answer) % user cancelled
niwait(msgbox (Y ou must enter a number to conlinue’,'Error,'modal'))
done = 1;
déne 2 =1;
else
i = str2Znum{answer{1});
iF ~isempty(i)
ifi<0
uiwail(msgbox('Please enter a *POSITIVE* number (i>>0)','Error,'modal’))
else
n = str2num(answer{2});
if ~isempty(n)
ifn<0
viwai{msgbox{'Please enter a *POSITIVE* number {n>0},'Error’,'modal’))
else
done=1;
done_2 =0;

end
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else
viwait{msgbox('Please enter a munber with no alphabetical characters','Error’,'modal’))
end
end
else
viwait{msgbox('Please enter a number with no alphabetical characters','Error', modal’))
end
end
end
while ~donc 2
prompl = {'Enter value of G','Enter value of n1{Begin),'Enter value of n2(£nd)'};
dig-titte = "Inpul tor compound funciion’;
mum- lines = 1;
-answer = inputdig(prompt,dlg title,num_lines);
if isempty{answer) % user cancelled
uiwait{msgbox ('Y ou must enter a number to continue', Error’,’modal'))
done 2 =1i;
else
G = strZnumf(answer {1});
if ~isempty(G)
nl = sir2Znum{answer{2});
if ~isempiy(nl)
ifnl <0
uiwail(msgbox('Please enter a *POSITIVE* number (n1>0)','Error',modal’))
else
n2 = str2num(answer{3});
il ~isempty(n2)
ifn2<0
uiwait{(msgbox(*Please enter a *POSITIVE* number (n2>0)','Error’,'modal’))
else
nn = nl:n2;

ni=size(nn);
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ny=ni(1,2)+1;
AG =guse(G,i,ny);
fprintfCyaAUNGUN5 WA (annual worth)= %0.3( 1N\n\', AG)
done 2 =1;
end
else
niwail(msgbox('Please enter a number with no alphabetical characters','Error','modal’))
end
end
else
uiwai((msgbox('Please enfer a number with no alphabetical characters','Error',' modal'))
end
else
wiwait{msgbox('Please enter a number with no alphabetical characters','Error’, modal'))
end
end
end
eiseif '==2"
done = 0;
while ~dolne
prompt = {'Enter 2 value of '/ Enler value of n'};
dlg_title ="Input for compound fonction’;
num_lines = 1;
answer = inputdlg(prompt,dlg_title,num_lines);
%i = str2num(answer{1});
%n = str2num{answer{2});
if isempty(answer) % user cancelled
uiwail{msgbox("You must enter a number to continue’,'Error','modal’))
done = 1;
done 2 =1,
clse

i = str2num{answer{1});
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if ~isemply(i)
ifi<o
uviwait{msgbox('Please enter a *POSITIVE* number (i>0)','Error', modal'))
else
n = str2znum(answer{2});
il ~isempty(n)
done =1;
done 2 =();
else
viwait{msgbox('Please enter a number with no alphabetical characters', Error','modal"))
end
end
else
viwait{msgbox('Please enter a number with no alphabetical characters’,Error','modal’))
end
end
end.
while ~dohe 2
prompi = {'Enter a value of A’,Enter a value of G','Enler value of nl(Begin),'Enter value of n2(End)'};
dig title ="Input for compound function’;
num_lines = |,
answer = inputdlg(prompt,dig_litle,num_lines);
il isempty(answer) % user cancelled
viwait{msgbox("Y ou must enter a number to continue’,'Error', modal’))
done_2 =1,
else
A = str2num(answer {1});
if ~isempty(A)
G = sir2znum{answer{2});
if ~isemply{G)
nl = si2znum(answer {3});

if ~isempty(nl)
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n? = sirZnum{answer{4});
if ~isempty(n2)
nn=nl:n2;
ni=size(nn);
ny=ni(1,2);
PG=annual(A,i,ny)+gradientp(G,i,ny);
PW=present(PG,i,(n1-1));
AF = capitalp(PW,i,n);
fprinlf('flquafh!.ﬁﬂ‘ljmﬁ"lﬂfl!] {annual worlh)= %0.3{ 11¥\n\n' AF)
done 2=1;
else
viwail{msgbox('Please enter a number with no alphabetical characters'Error’'modal’))
end
else
uiwail{msgbox{'Please enter a number with no alphabeltical characters’,'Error','modal'}}
end
clse ..
uiwail{msgbox('Please enter a number with no alphabetical characters',Error’,'modal’))
end
else
uiwail{msgbox('Please enter a number with no alphabetical characters', Error','modal’))
end
end
end
else
end
- Funetion UM sHaNIUNIsAIMIL
function AG = guse(G,i,n)
c=1/100;
AG=G*((1/c)-(n/(1+cy n-1)))
end

function PF = present(f}i,n)



j=i/100;

PF = [¥(1/(1+j)"n);

end

function PA=annual{a,b,n)
i=b/100;

PA = a*({((1+i)"n)- DA*(1+i) n));

end

¢ = ar A at A 3 e
vlosun 3 'E)Fl‘é"lﬂﬂmﬂtﬂuu'm GIZER L LALIN R

A 9 =1 [v] c;’
WiAansey fatt

function inerest rate

o W User 11 S5 000150 %
done=0;

while ~done

prompi={interest rate:'} ;

name="User Input';

numlines=1;
answer=inputdlg(prompt,name, numlines};

if isempiy{answer) % user cancelled

uiwait{msgbox(' Y ou musl! enter a negative number to continue’,'Error’,'modal’))

done=1;

done 2=1,

else
ii = stir2num{answer{1});
if ~isempty(ii)

ifii<=0

viwail(msgbox('Please enler a NEGATIVE number (<0),'Error',’modal’))

clse

as -::’ e ) o ] = 1 ] o o ] A A []
k(1) = menu('DA3 190N LR MUARED 15 Al Moo ma lasuns medlan mens il we

m;
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ar ; Ao = 1] =1 ] a 1 =
k(2) = menu(‘Bn3 onIDEN I MUARaNNez 15(@ealiviasdnay, naqil, anphow, mnq las

a o c& = o
ey, wnadlant, maqaal mna ),
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1 Fd
9 [~ W 1 L] ] ] ' as e
k(3) = menu(aoamsnlavuilusasmentilodeos 15 Aol dewow aelasinas wedua e

doay b e
a9 ' Ae "),

» k4
k(4) = menu('s?fmmiL'Ll?mmfluﬁ'ﬂsmamﬁUﬁﬂnnaz'ls','nnc]ﬂ',’nnc]Lﬁau','nﬂq'lmmm','nnq

o o : [Y
A mnaaaail mng Tu;

fori=1:4

if k(i)=1

m{i)="7%4%12;

end

if k(iy==2
m(i)=7*4:

end

ifk(i)==3

m(i)=7*4%3:

end

i k(i)=4
m{i}=7;

end

if k(i)==5

m(i)=7%4%6;

end
it k(i)}==6
mii)=1;
end
ifi=—4
done=1;
end
end
ri=m(l);
r2=m(3);

ml=m(2);
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m2=m(4);
=(r2/r1Y*(ii/100);
m=m2/ml;
inter_rate=(((1+{r/m))*m)-1)}*100
done = 1;
end
else
uiwait{msgbox('Please enler a negative number with no alphabetical characters','Error’,'modal’))

end

I3 c; a A = <
Hesui 4 mafameninsaimalapinsizanisainy

¥
A 5b a o o
'l.liﬂﬂﬂﬁk'ﬂﬂ‘u il

Presesnl - Worth
function pworth
donel =0;
while ~donel
prompt = {'Enter a value of i'};
dig_title ="Input for compound function’;
nuim_lines = 1;
answer i = inputdlg(prompt,dlg_title,num_lines);
if isempty(answer_i) % user cancelled

niwail(msgbox("You must enter a negative number lo conlinue','Error','modal’))

donel = 1;
done2 = 1;
done =1;
K=5;
K2=5;

clse
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i= str2num(answer if!}),
if ~isempty(i)
ifi<=0
uiwail{msgbox{'Plcase enter a not POSITIVE mumber (i<0),'Error','modal')}
else
K = menu(f 195105108 Project 1198105 0ilvniumnil »Ar i lds w5 0iliuii o fmn
G lensnuupm "A&G M ES0nBHTY "AA&G™) ;
donel = 1;
done=0;
end
else
viwait{msghox('Please enter a negalive number with no alphabetical characters','Error','modal’))
end
end..
end
if K==
% HIATAIN A %
while ~done
prompt = {"Enter value of first cost (P).",'Enter value of annual cost {A),' Enler value of salvage value
(F)."'Enter value of life (n):'};
dlg. tille ="Project I’;
num_lines = 1;
answer = inpultdlg{prompt,dlg_title,num_lines);
if isempty(answer) % user cancelled
uiwait(msgbox("You must enter a number to continue’,Emror’,' modal'))
done =1;
done_k=1;
done K2=1;
K2=5;
else
P = str2num(answer{] });

if ~isempty(P)
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ifP>0
uiwail(msgbox('(" P "} Please enter a *NEGATIVE* number (P<0)','Error’,'modal’))
else
A = sirZnum{answer{2});
il ~isempty(A)
F = str2num(answer{3});
if ~isempty(F)
ifF<0
viwail{msgbox(‘'Please enter a *POSITIVE* number (F>0)','Error’,'modal'))
else
n = str2num(answer {4} );
il ~isempty(n)
ifn<0
viwail(msgbox('Please enter a *POSITIVE* number (n>0),'Error','modal’))
else
PW 1= P+annual(A,i,n)+present(F,i,n);
done =1;
K2 = menu('A1 159163161 Project 2 a4 w56l "A"','ﬂ'fl%ih[l‘j"lﬁ_'!ﬁll‘?;’u
1 q fuyml "G Ml onuusgy "A&G", M ISV IHEY "AAG") ;
done? =0;
end
else
viwait{msgbox('Please enier a number with no alphabetical characters',Error’, modal’))
end
end
else
uiwail{msgbox('Please enter a number with no alphabetical characters','Error’,'modal’)}
end
else
uiwait{msgbox('Please enter a number with no alphabetical characters', Error', modal’))
cnd

end
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else
uiwait{msgbox('Please enter a number with no alphabetical characters',Error','modal’))
end
end
end
elseif K==2
% MAIID G
while ~done
prompt = {'Enter a value of first Cost (P) :','Enter a value of Gradient Factor (G) :','Enter value of
salvage Vahie (F) ' 'Enter a value of life (n) :'};
dig_title = "Project 17
num_lines = 1;
answer = inputdlg(prompt,dlg _litle,num_lines);
o isempty(answer} % user cancelled
uiwait{msgbox(' You must cnter a number to continuc','Error’,'modal’))
done =1;
done k=1,
doné K2=1;
K2=5;
else
P=sir2num(answer{1});
H ~isempty(P)
ifP>0
viwail{msgbox('(" P ") Please enter a *NEGATIVE* number (P<0)','Error',modal’))
else
G = strZnum(answer{2});
if ~isempty(G)
F = str2num(answer{3});
il ~isempty(F)
ifF<0
viwail(msgbox('Please enter a *POSITIVE* number (F>0),'Error’,/modal'})

else
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n = str2znum{answer{4});
if ~isempty(n)
ifn<=0
viwait{msgbox('(" n ")Please enter a *POSITIVE* number (i>0),'Error','modal'))
else
PW_ 1= P+gradientp{G,i,n)+present(F,i,n);
done =1;
K2 = menu(a1 141051011 Project 2 mildos witminumnil "A'",'fiﬂ%'mtlﬂuﬂsﬁu%u
11 9 Aumatl "G M IEonuIHEY ARG, AT IINATY "AARG™) ;
done2 =0;
end
else
niwait{msgbox('Please enter a number with no alphabetical characlers', Error','modal'))
end
end
else
uiwait{isgbox('Please enter a number with no alphabetical characlers', Error', modal'})
end
else
uiwaitiimsgbox('Please enter a number with no alphabetical characters',Error','modal’))
end
end
else
uiwail(msgbox('Please enter a number with no alphabetical characters', Error,'modal'’))
end
end
end
elseif K==3
% A&G
while ~done
prompt = {'Enter a value of first Cost (P) :',/Enter value of annual cosi (A),Enler a value of Gradient

Factor (G) :','Enter value of salvage Value (F) ’,’Enter a value of life (n) :'};



dlg_litle ="Project 17;
num_lines = 1;
answer = inputdig(prompt,dlg_title,num_lines);
if isempty(answer) % uvser cancelled
uiwait{msgbox("Y ou must enter a number Lo continue','Error','modal')}
done =1;
done_k=1;
done K2=1;
K2=5;
else
P = sir2znum(answer{1});
il ~isemply(P)
ifP>=0
uiwan(msgbox('(" P ") Please enter a *NEGATIVE* number (i<0),'Error’,'modal”))
clse
A = strZnum{answer{2}):
if ~isemply (A}
G = strZnum(answer {3});
if ~isemply(G)
F = str2num(answer{4});
il ~isempty(F)
ifF<Q
viwail{msgbox('Please enter a *POSITIVLE* number (I>0)','Error’, modal’))
else
n = sir2Znum(answer{5});
if ~isempty(n)
ifn<0
viwait{msgbox('(" n ")Piease enter a *POSITIVE* number (>-0)','Error','modal’))
else
PW_ I = P+annual{(A,i,nHgradientp(G,i,nHpresent(F i,n);

done =1;
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K2 = menu(m 199105108 Project 2 i lF9 w5 wilviriunnil "A™ mrldos Wiy
111 9 Aumnd "G A IFoMDDHEY "A&G", A 1S90 "AA&G™) ;
done2 =0,
end
else
uiwait{msgbox('Please enter a number with no alphabetical characters', Error’, modal'})
end
end
else
uiwait(insgbox('Please enter a number with no alphabetical characters',Error’,'modal’)}
end
else
niwait(msgbox('Please enter a number with no alphabetical characters','Error','modal’))
end..
else
uiwait(msgbox('Please enter a number with no alphabetical characlers’,'Emror’, modal’))
end
end
else
uiwail(imsgbox("Please enter a number witl no alphabetical characters',’Error’,'modal'}}
end
end
end
elseif K==
while ~done
prompt = {'Enter a value of first Cost (P) ,Enter value of annuat cost {A):',Enter a value first Cost of
Gradient Factor ', Enter a valuc of Gradient Factor (G) :','Enter value of salvage Value (F) :')Enler a
value of life (n) '};
dig_litle = "Project 1';
mmm_lines = 1;
answer = inputdig(prompt,dlg_titke,num_lines);

if isempty(answer) % user cancelled
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uiwait(msgbox("Y ou must enter a number to continue’,'Error’,'modal'’))
done =1;
done k=1I;
done_K2=1;
K2=5;
clse
P = sir2num{answer{!});
if ~isempiy(P)
ifP>=0
uiwait{msgbox('(" P ") Please enter a *POSITIVE* number (P>>0)','Error', modal’))
else
A = sti2Znum(answer{2});
i ~isemply(A)
AG = str2num(answer{3}),
if ~isemply(AG)
G = str2num(answer{4});
if ~isempty(G)
F = str2numfanswer{5});
il ~isempty(F)
n = sir2mim(answer{6});
if ~isempty(n)
<0
viwait{msgbox((" n "}Please enter a nol *POSITIVE* number (n>0)', Error,'modal'))
else
PW_1 = P+annual(A,i,n)Hannual(AG,i,n)}+gradientp(G,i,n}present(F,i,n);
done =1;
K2 = menu('a 199105108 Project 2 1% w3 wilmnumni "A"','?h“l%’iimﬂﬂ?hﬁnﬁu
9 dunnil G T ke "A&G™ M FonuURaN "AA&G™) ;
done2 =0;
end
clse

uiwail{msgbox('Plcase enter a number wilh no alphabetical characiers', Error','modal’))



end
else
uiwail{msgbox('Please enler a
end
clse
viwail{msgbox('Please enter a
end
else
viwail(msgbox('Please enter a
end
else
uviwait{msgbox('Please enter a
end
end
else
uiwail(msgbox('Please enter a
end
end “’
end

else

number with no alphabetical characters','Error’,'modal’))

number with no alphabetical characlers', Error','modal’))

number with no alphabetical characters','Error’,'modal'))

number with no alphabetical characters', Error,'modal’))

number with no alphabetical characters', Error,'modal’))

%% %% %% % %% %% % % %% % % %% W % %% Y

end

O _— -

% Project 2 %

if K2=]
% MIFVIN A %

while ~done2

%o
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prompt = {'Enter valuc of {irst cost (P):',Enter value ol annual cost (A):'," Enter value of salvage value

(F)!' 'Enter value of life (n)'};
dig title = 'Project 2';

num_lines = 1;
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answer_2 = inpuldlg{prompt,dig_title,num_lines);
if isemply(answer 2) % user cancelled
viwait(msgbox("You must enter a number to continue',’Error’,'modal’})
done2 =1;
else
P2 = str2num(answer 2{1});
if ~isemply(P2)
ifP2>0
niwait{msgbox('(" P ") Please enter a *{NEGATIVE* number (P<0)','Error', modal’))
else
A2 = sir2znum{answer 2{2});
if ~isempty(A)
F2 = str2Znum{answer_2{3});
il ~isemply(I2}
iIfFF2 <0
uviwail(msgbox('Please enter a *POSITIVE?* number (F>0),'Error’,'modal'))
clse -
n2 = strZnumfanswer_2{4});
if ~isemply(n2)
ifn2 <=0
wiwail(msgbox('Please enter a *POSITIVE* number (n>0},'Error’,' modal’))
else
PW 2 =P2+anmal{A2,in2)+present(F2,in2);
done2 =};
end
else
uiwail(msgbox(‘Pleése enler a number with no alphabelical characters',Error’,'modal'))
end
end
else
uiwail{msgbox('Please enter a number wilh no alphabetical characters', Error','modal’))

end
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else
viwait{msgbox('Please cnter a number with no alphabetical characters','Error','modal’))
end
end
else
uiwait{msgbox('Please enter a number with no alphabelical characters','Error',/modal'’))
end
end
end
elseil K2==2
% WIAWVY G
while ~done?
prompt = {'Enter a value of first Cost (P) ' Enter a value of Gradient Factor (G) :",'Enter value of
salvage Value (F) ', Enter a value of life (n) :'};
dlg title ="Projecit 1
num_lines = I;
answer_2 = inputdlg(prompt,dlg title,num lines);
if isemply(answer 2) % user cancelled
viwail{msgbox("You must enter a number to continue','Error’, modal’))
done? =1;
else -
P2'= str2Znum{answer 2{1});
if ~isempty(P2)
ifP2>0
viwait{msgbox('(" P "} Please enter a *NEGATIVE* number (P<0)','Error','modal’})
else
G2 = str2num(answer 2{2});
if ~isempty(G)
F2 = sir2num(answer 2{3});
if ~isempty([F2)
ifF2 <=0

viwait{msgbox('Please enter a *POSITIVE* number (F>0),'Error,'modal’))



else
n2 = str2Znum(answer_2{4}}),
if ~isemply{n2)
iftn2 <=0

uiwait{msgbox('(" n ")Please enter a *POSITIVE* number (n>0)',Error’,'modal’})

else

PW_2= P+gradientp(G2,i,n2)+present(F2,i,n2);

done2 =1,
end
else
viwail(msgbox('Please enler a
end
end
else
niwai(msgbox('Please enter a
end
else
niwai(msgbox('Please enter a
end
end
clse
wiwail(msgbox('Please enter a
end
end
end
elseif K2==3
% A&G

while ~done?2

prompt = {'Enter a value of first Cost (P) ", Enter value of annual cost (A):",'Enter a value of Gradient

number with no alphabetical characters', Error’,/modal’))

number with no alphabelical characters', Error','modal’))

number with no alphabetical characlers', Error','modal’)}

number with no alphabetical characters', Error’,'modal'))

Factor (G) :'Enler valie of salvage Value (F) -','Enter a value of life (n) :'};

dlg_title = "Project 2';

mim_lines = 1;
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answer 2 = inputdlg(promplt,dlg_title,num lines),
if isempty(answer 2) % user cancelled
uiwait{msgbox('Y ou mus! enter a number to continue','Error','modal’))
done2 =1,
else
P2 = sir2num{answer 2{1});
if ~isempty(P2)
ifP2>=0
uiwail(msgbox('(" P ") Please enter a NEGATIVE mumber (P<0),'Error', modal’))
else
A2 = stir2Znum{answer_2{2});
if ~isemply(A2)
G2 = str2num{answer_2{3});
if ~isempty(G)
F2 = si2num{answer 2{4});
if ~isempty(I'2)
iHF2<0
uiwail(msgbox('Please enter a nol *POSITIVE* number (F>0)','Error','modal’))
else
n2 = strZznum(answer 2{5});
if ~Isemply(n2)
ifn2 <=0
uiwait{msgbox('(" n ")Please enter a *POSITIVE* number (n>0)','Error’,’modal'))
else
PW_2 = Ptannual{A2,i,n2}+gradientp(G2,i,n2 Hpresent(F2,i,n2);
donc2 =1;
end

else

viwail(msgbox('Please enter a number with no alphabetical characlers',Error','modal'))

end
end

else
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niwail(msgbox('Please enter a number with no alphabetical characters’, Error','modal'})
end
clse
viwail{msgbox('Please enter a number wiih no alphabetical characters','Error’,'inodal'))
end
else
wiwail{msgbox('Please enter a number with no alphabetical characters','Error’,'modal'’))
end
end
clse
niwail{msgbox('Please enter a number with no alphabetical characters', Error','modal'))
end
end
cnd
elseif K==
while ~done?2
prompt= {'Enter a value of first Cost (P) ',Enler value of annual cost (A):",Enter a value first Cost of
Gridient Factor ,'Enler a value of Gradient Factor (G) :','Enter value of salvage Value (F) ','Enler a
value of life (n) :'};
dig title ='Project 2';
num lines = 1;
answer_2 = inputdig(prompl,dig_titie,num_lines);
if isempty(answer 2} % user cancelled
viwait(msgbox("Y on must enter a number to conlinue','Error’,'modal’))
done2 =1;
else
P2 = str2Znum(answer 2{1});
if ~isempty(P2)
ifP2>=0
viwait{msgbox('(" P ") Please enter a NEGATIVE number (P>0),'Error’,'modal’))
else

A2 = str2num{answer 2{2});



if ~isempty(A2)
AG2 = str2num(answer 2{3});
if ~isempty(AG2)
G2 = str2Znum(answer_2{4}),
if ~isempty(G2)
F2 = str2num(answer_2{5});
if ~isempty(F2)
n2 = sir2numf(answer 2{6});
if ~isempty(n2)
ifn2<=0
uiwait{msgbox("(" n ")Please enter a *POSITIVE* number (n>0)','Error,'modal'))
clse
PW--2 = P2+annual(A2,i,n2)+annual{ AG2,i,n2)+gradientp(G2,i,n2)+present(F2,i,n2);
if ~isempty(PW 2)
fprintl(’PW 1 = %030 1N’ PW 1)
1prntl’PW 2 = %030 1V’ PW 2)
ifPW. I>PW, 2
fprintfl{’PW | > PW 2 Fuiusadoniatms I\nwn")
else
fprinti(PW 1 < PW 2 Frnisadonlaems 2\n\n’)
end.
end
done? =1;
end
clse
uiwait{msgbox('Please enter a number with no alphabetical characters','Error','modal')}
end
else
uiwait{msghox('Please enter a number with no alphabelical characters''Error’,/modal’))
end
else

uiwait(msgbox('Please enter a number with no alphabetical characters’'Error’,'modal'))
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end

else

niwait{msgbox(Please enter a number with no alphabeltical characters', Error,'modal’))

end

else

uiwait(msgbox('Please enter a number with no alphabetical characters’,'Error',/modal'))

end
end

else

viwait(msgbox('Please enter a number with no alphabelical characters’, Error','modal’)}

end
end
end

clsc

% %% %% %% % %% %% % %% % % % % % % % % %

end

- Function aumwé’n‘lumsﬁmm

function PG=gradientp(g,i,n)
¢=1/100;

PG= g*((((1+c) n)-(c*n)-DA(c 2)*(H+c) n));

End

funclion PI’ = present({,i,n)
j=1100;

PF = £*(1/(1+j)*n);

end

function PA=annual{a,b,n)
i=b/100;

PA = a*(({({(1+i)*n)-1)/(*(1+i)*n));
End
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Annual - Worth
funclion aworth_2
donel =0;
while ~donel
prompl = {'Enter a value of i'};
dlg_title ="Input for compound function’;
num_fines=1;
answer i = inputdlg(prompt,dlg_title,num_lines);
ifisempty(answer i) % user cancelled
uiwait(msgbox(' You musl enter a negative number to continue', Error, modal’))
donel = 1;
done? = 1;
done = 1;
K=5;
K2=5;
else
i = sir2Znum{answer i{1});
il ~isempty(i}
ifi<=0
viwail(msgbox('Please enter a *POSITIVE* number (i<0)', Error’, modal’)}
else
K = menu(a 149105168 Project 1™ a1 wswilviiunndl "A™ e lduws il 9 fAunn
Frae A lFnomeay "A&G", M IFNuIUUHTY "AAKG™) ;
donel = I;
done=0;
end
else
uiwait{msgbox('Please enter a negative number with no alphabetical characters''Error’,'modal'))
end
end
end

if K==
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% WIANDIN A %
while ~done
prompt = {'Enler value of first cost (P):',Enter value of annual cost (A):')" Enter value of salvage value
(F)"."Enter value of life (n):'};
dlg_title = "Project 1";
num_lines = 1,
answer = inpuldig(prompt,dlg_title,num_lines),
if isempty (answer} % user cancelled
viwait{msgbox{"You must enter a number to continue','Error’,'modal’))
done =1;
done k=1;
done_K2=1;
K2=5;
else
P = str2num(answer{1});
if ~isempiy(P)
fp>=0
viwait(msgbox('(" P ") Please enter a *NEGATIVE* number (P<0),'Error','modal’))
else
A = str2numfanswer{2});
tF~isemply(A)
F = str2num{answer{3});
if ~isempty(F)
ifF<0
uiwail(msgbox{'Please enter a *POSITIVE* number (F>0),'Error’,'modal'))
else
n = str2znum(answer{4});
if ~isemplty(n)
itn<=90
viwait{msgbox('Please enter a *POSITIVE* number (n>0)','Error’,’ modal’))
else

PW_1 = P+present(F,i,n);
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A 1 = capitalp(PW_Li,n+A;
done =}|;
K2 = menu(i1199103167) Project 2 /M 1Faosutlvdumm) "A"','fh“l‘i‘s’iiws1u'§’hﬁu§u
i 9 fumnil g A ldnonunay "A&G™ M lFhUIHTY "AARG™) ;
done2 =0;
end
else
uiwait(insgbox('Please enter a number with no alphabetical characters',Error','modal'})
end
end
else
viwail(msgbox('Please enfer a number with no alphabetical characters’,'Error', modal'))
end
else
uiwait(msgbox('Please enler a number with no alphabelical characters’, Error' 'modal"))
end
end
else
uiwail(msgbox('Please enter a number with no alphabetical characters', Error' 'modal’))
end
end
end
elseif K==2
% MR G
while ~done
prompt = {'Enter a value of first Cost (P) :",Enler a value of Gradient Factor (G) !,'Enter value of
salvage Value (F) 7, 'Enter a value of life (n) :'};
dlg title ="Project 1*;
num_lines = 1;
answer = inputdig(prompt,dlg_title,num_lines);
if isempty(answer) % user cancelled

uiwait(msgbox('You must enlter a number to continue','Error’,'modal’)}
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done =1;
done k=1,
done K2=1;
K2=5;
else
P = si2num(answer{1});
if ~isempty(P)
ifP>=0
uiwail(msgbox('(" P ") Please enter a *NEGATIVE* number (P<0),'Error','modal’))
else
G = str2znom{answer{2});
if~isemp1y(G)
F = str2num(answer{3});
if ~isemply(F)
tfF <0
niwait(msgbox('Please enter a *POSITIVE* number (F>0), Error','modal’))
else
n = str2num(answer{4});
if ~isempiy(n)
ifn <0
uiwail(msgbox('(" n ")Please enter a *POSITIVE* number {n>0)'"Error’,/modal"))
else
PW_ 1= P+gradientp(G,i,n)+present(F,i n);
A_1 = capitalp(PW_1,i,n);
done =1;
K2 = menu('A1199103101) Project 27 lsnoauilnidmail oA i lge s wilR ey
o 9 funnil "G lFsenmay "A&G A lF o may A ALG™) ;
done? =0;
end

else

uiwail(msgbox('Please enter a number with no alphabetical characters'’,Emor’,'modal?))
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end
end
else
uiwait(msgbox('Please enter a number with no alphabetical characters', Error','modal’))
end
else
niwait{msgbox('Please enter a number with no alphabetical characters',Error',)modal’))
end
end
else
uiwail(msgbox('Please enler a number with no alphabelical characlers','Error’,'modal’))
end
end
end
elseif K==3
% A&G
while ~done
prompt = {'Enter a value of first Cost (P) ' "Enter value of annual cost {A)",'Enter a value of Gradient
Factor {G) ','Enter value of salvage Value (F) 'Enlcr a value of life {n) :'};
dlg 1itle = "Project 1%
num_lines = 1;
answer = inputdlg(prompt,dlg_title,num_lines);
if isempty(answer) % user cancelled
uiwait{msgbox('"You musl enter a number to continue','Error','modal"))
done =1;
done k=1;
done K2=1;
K2=5;
else
P = sirZnum{answerf{1});
if ~isempty(P)
ifP>=0
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uiwait{msgbox('(" P "} Please enler a *NEGATIVE* number (P<0),'Error','modal’))
else
A = str2num{answer{2});
if ~isempty(A)
G = sir2num{answer{3});
if ~isemply(G)
F = str2num(answer{4});
if ~isempty(F)
ifF <=0
uiwail{msgbox('Please enler a *POSITIVE* number (F>0),'Error', modal’))
else
n = str2num{answer{5});
if ~isemply(n)
ifn<=0
uiwait(msgbox('(” n ")Please enter a *POSITIVE* number (n>0},'Error’ 'modal’))
else
PW ] = P+A tgradientp(G,i,n)+present{F,i,n);
A 1= capitalp(PW_1,i,n);
done =1;
K2 = menu(A1 156105108 Project 27, e uilniviumad] "am i 18050t
w1 mmnil "G mlsnomumgy "A&G, M lFvenuUHaY "AA&G™) ;
done2 =0;
end
else
uiwait{msgbox('Please enter a number with no alphabetical characters','Error’,'modal'))
end
end
else
viwait{msgbox('Please enter a number with no alphabetical characters','Error','modal'))
end
else

viwail(insgbox('Please enter a number with no alphabelical characters', Error', modal'))
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end
else
uiwait(msgbox{'Please enter a number with no alphabetical characters’, Error','modal’))
end
end
else
viwait(msgbox('Please enter a number with no alphabetical characlers','Error', modal'))
end \
end
end
clseif K==4
while ~done
prompt = {'Enter a value ol first Cost (P} ', Enter value of annual cost (A),'Enter a value first Cost of
Gradient Factor *,'Enter a value of Gradient Factor (G) :''Enter value of salvage Value (F) :','Enter a
value of life (n) -'};
dlg title ="Project 1";
mim- lines = 1;
answer = inputdlg(prompt,dlg title,num_lines);
il isempty{answer) % uscr cancelled
uiwait{msgbox('Y ou must enter a number to continue','Error’,'modal’))
done =1;
done k=1;
done K2=1,
K2=5;
else
P = sirZnum{answer{1});
if ~isempty(P)
ifP>=0
niwail{msgbox('(" P ") Please enter a NEGATIVE number (P>0)','Error’, modal’}))
else
A = sir2num(answer {2});

if ~isempty(A)



AG = sir2num{answer{3});
il ~isempty(AG)
G = st2num(answer {4});
if ~isempty(G)
F = str2znum(answer{5});
if ~isempty(F)
n = str2numfanswer{6});
if ~isemply(n)

ifn<=0

viwait(msgbox('(" n ")Please enler a *POSITIVE* number (n>0)','Error’,'modal’))

clse

PW_1 = P+A+annual(AG,i,n)+gradientp(G,i,n)+present(F,i,n);

A 1= capitalp(PW 1,i,n);

done =1;

129

1 L] =1 L r L = 1] at =] L] ) =1 Ql é’
K2 = menu(i 1991051670 Project 27 1105 0ilvindunnl "am i 199103 0ilfiuy

e fundl "G alstonnuman "A&G” A R "AAKG™) ;

done?2 =0;
end
else
viwait(msgbox('Please enter a
end
else
viwait{msgbox('Please enter a
end
else
utwait(msgbox('Please enter a
end
else
viwail{msgbox('Please enter a
end
clse

uiwaitl(msgbox('Please enfer a

nwnber with no alphabetical characters','Error,"modal'))

number with no alphabelical characters',Error','modal'))

number with no alphabelical characters','Error’,'modal’))

number with no alphabetical characters','Error','modal"))

number with no alphabetical characters','Error’,'modal’)}
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end
end
else
viwait(msgbox('Pleasc enter a number with no alphabetical characters','Error’,'modal'))
end
end
end
clse

6% %% %% %% % % %% %% %% % % % % %% % % % % %% % % %

end

B Sl %
% Project 2 %

Yp-mmmmmmmmmme > %

if K2—

% WININ A %
while ~done2
prompt = {Enler value of first cost (P):",'Enter value of annual cosi (A)', Enter value of salvage value
(F):"’Enter value of life (n):'};
dlg title ="Project 2;
num_lines = 1;
answer- 2 = inputdlg(prompt,dlg_title,nuin_lines);
if isempty(answer 2) % user cancelled
viwail{msgbox("You must enter a number to continue’,'Error,'modal’})
done? =1;
else
P2 =str2num(answer 2{1});
if ~isemply(P2)
ifP2>=0
viwait(msgbox(*(" P "} Please enter a *NEGATIVE* number (P<0)',’Error’,’modal’))
else
A2 = sir2num{answer_2{2});

il ~isempty(A2)
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F2 = sir2num(answer_2{3});
if ~isempty(F2)
ifF2<0
viwail(msgbox('Please enter a *POSITIVE* number (F>0)','Error', modal"))
clse
n2 = str2num(answer_2{4});
if ~isempty(n2)
ifn2<0
viwait{msghox{'Please enler a *POSITIVE* number (n>0),'Error’,' modal’))
else
PW 2 = P2+present(F2,in2),
A 2= capitalp(PW 2,in2}+A2;
done2 =1;
end
else
uwiwail{msgbox('Please enter a number wilh no alphabetical characiers’,' Error’ ' modal’))
end
end
else
niwail{msgbox(‘Please enler a number with no alphabetical characters',Error','modal'))
end
clse
viwail{msgbox('Please enter a number with no alphabetical characters', Error’,'modal’))
end
end
else
uiwail(msgbox('Please enter 2 number with no alphabetical characters','Error','modal'))
end
end
end

elseif K2==2
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% MMM G
while ~done2
prompt = {'Enter a value of first Cost (P) ?",'Enter a value of Gradient Factor (G) *','Enter value of
salvage Value (F) :''Enter a value of life (n} :'};
dlg title ="Project 1';
num_lines = I;
answer_2 = inputdlg{prompl,dig title,num lines);
if isempty(answer 2) % uvser cancelled
uiwait{mszbox (Y ou musl enler a number lo continue','Error','modal'))
done2 =1;
else
P2 = str2num(answer 2{1}),
if ~isempty(P2)
P2 >=10
uiwait(msgbox('(" P ") Please enler a *NEGATIVE* number (P<0),'Error','modal’))
else
G2 = str2num{answer 2{2});
F2 = str2num(answer_2{3});
if ~isempty(F2)
CifF2 <=0
viwait{msgbox('Please enter a *POSITIVE* nuinber (F>0),'Error','modal’))
else
n2 = str2num{answer_2{4});
if ~isempty(n2)
ifn2 <=0
wiwait(msgbox('(" n ")Please enter a *POSITIVE* number (n>0),'Error','modal'))
else
PW 2= P2+gradientp(G2,i,n2Hpresent(F2,i,n2);
A 2= capitalp(PW 2,i,n2);
done2 =1,

end
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else
niwail{msgbox('Please enler a number with no alphabetical characters',Error','modal')}
end
end
else
viwait(msgbox('Please enter a number with no alphabetical characters’,'Error', modal’})
cnd
else
uiwait(msgbox('Please enter a number with no alphabetical characters','Error','modal’))
end
end
else
viwail(msgbox(Please enter a number with no alphabetical characters’, Error','modal’))
end
end
end
elseif K2==
% A&G
while ~done2
prompt = {"Enter a value of first Cost (P) :"/Enter value of annual cosl {A):'Enter a value of Gradicnt
Factor {(G) ", Enler value of salvage Value (F) ''Enter a value ol life (n) '};
dlg_title ="Project 2°;
num_lines = 1;
answer 2 = inpuldlg({prompt,dlg_title,num_lines);
if isempty(answer 2) % user cancelled
niwail{msgbox("You must enier a number to continue’,Error','modal’))
done2 =1;
else
P2 = sir2num(answer 2{1});
if ~isempty(P2)
ifP2>=0

uiwail(msgbox('(" P ") Please enler a *NEGATIVE* number (P<0)','Error','modal'})
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else
A2 = si2num(answer 2{2});
if ~isempty(A2)
G2 = sir2num{answer 2{3});
if ~isemply(G)
F2 = str2num(answer_2{4});
if ~isempty(F2)
ifF2<=0
uiwait(msgbox('Please enter a *POSITIVE* number (F>0) 'Error','modal'})
else
n2 = str2num{answer 2{5});
if ~isemply(n2)
irn2 <=0
uiwait{msghox{'(" n ")Please enler a *POSITIVE* number {n>0),'Error', modal"))
else
PW_2 = P2+gradientp(G2,i,n2)+present(F2,i,n2);
A_2 = capitalp{PW_2,i,n2)+A2;
done2 —=|;
end
else
uviwait{msgbox('Pleasc enter a number with no alphabetical characters', Error','modal'’))
end
end
else
uiwail(msgbox('Please enter a number with no alphabelical characters','Error','modal’))
end
else
viwail{msgbox('Please enter a number with no alphabelical characters’,'Error','modal’)}
end
else
uiwait(msgbox('Please enter a number with no alphabetical characters’,'Error’,'modal’))

end
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end
else
viwail{msgbox('Please enter a number with no alphabetical characters','Error’,'modal'))
end
end
end
elseif K==
while ~done2
prompl = {'Enter a value of first Cost (P) :',Enter value of annual cost {A).",'Enter a value {irst Cost ol
Gradient Factor ' 'Enter a value of Gradient Factor (G) :','Enter value of salvage Value (F) :',Enter a
vatue of life (n) 7} ;
dlg- title = 'Project 2",
pum: lines = 1;
answer 2 = inputdlg{prompt,dig_title,nusn_lines);
if isempty(answer 2) % user cancelled
uiwail(msgbox( You must enter a number to continue’,'Error','modal'})
done2 =1;
else
P2 = str2num{answer 2{1});
if ~isemply(P2)
ifP2>=0
viwail{msgbox('(" P ") Please enter a *NEGATIVE* number (P>0),'Error’, modal’))
clse
A2 = str2znum{answer 2{2});
if ~isempty(A2)
AG2 = str2num{answer_2{3});
if ~isempty(AG2)
G2 = str2nmum(answer 2{4});
if ~isempty(G2)
F2 = str2Znum(answer 2{5});
if ~isempty(F2)

n2 = strznum{answer_2{6}),



if ~isempty(n2)
ifn2 <=0
viwait(msgbox('(" n ")Please enter a ¥*POSITIVE* number (n>0)','Error''modal’))

else

PW 2 = P2+annual(AG2,i,n2H gradientp(G2,i,n2)}+presend(F2,i,n2);

A_2 = capitalp(PW_2,i,n2+A2);

if ~isempty(A 2)

{printfCA_1 = %0.3f U inn\n",A 1)

fprintflUA 2 = %0.3f U1\, A 2)

ifA_

1>A 2

fprintflCA_1 > A 2 daiiuaiion laamsh )

else

fprintfCA_1 <A 2 fatiudaimon Inmanishn 2unwn)

end

end

done2 =1,
end
else
uiwitil{msgbox('Please enter & number with no alphabetical characters’,Error,'modal'))
end
else
uiwait(msgbox('Please enter a_number with no alphabetical characiers’, Error','modal’))
end
else
uiwail(msgbox("Please enter a number with no alphabetical characters', Error','modal'))
end
else
uiwail(msgbox(Please enler a number with no alphabetical characters',’Error’, modal'))
end
else
viwait{msgbox('Please enter a number with no alphabetical characters', Error’,'modal'))

end
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end

else

viwait{msgbox('Please enter a number with no alphabetical characters','Emror','modal'))

end
end
end
else
%% %% %% %% % %% % %% % % % % % %% % % % % %%
End
- Function ﬁ‘llﬂTSﬂinﬂﬂﬂViﬁTn’JH

function AP = capitalp(P,i,n)
c=i1/100;
AP = P¥({(c*(1+c) n)/(((1+c)™n)-1));
end:
function AW = sinkingt{F,i,n)
¢=i/100;
AW = F*(c/(((1 te) n)-1));
end

¢ = o o I
‘I“lﬁ)‘iﬂﬁ 5 ﬂ’l‘iﬂﬂ!aﬁ)ﬂiﬂSQﬂ"I‘iiﬂﬂﬂ"l'i'Jlﬂ‘i'ltﬂﬂﬂ‘i1Hﬂﬂﬂ‘l.l!mu

¥
N TAamsMey a1l

function istar2

% 19 User 1am1 %

donel = 0;

while ~donel

prompt = {'Enter a value of MARR :','Enter a value of life :' };
dlg_title ="Input for compound function istar’;

num lines=1;

answer_i = inpuidlg(prompt,dlg_tille,num _lines);

if isempty(answer 1) % vser cancelled
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niwait(msgbox('You must enter a negalive number to continue’,'Error’,'modal'))

donel = 1;

done2 = 1;

done3=1;

doned = 1;
else

i = strZnum(answer i{l});
if ~isempty(i)
ifi<=0
viwait(msgbox('Pleasc enter a not *NEGATIVE* number (i>0), Error', modal’)
else
n = sti2numfanswer i{2});
if ~isempty(n)
ifn<=0

uiwail{msgbox(‘'Please cnter a *POSITIVE* number (n>0)','Error’,'modal’))

else
donel = [,
done2 = 0;
end
else

viwait{msgbox('Please enler a negative number with no alphabetical characters','Error’, modal’))
end
end
else
uiwail(msgbox('Please enter a negalive number with no alphabetical characters',Error’,'modal’))
end
end
end
while ~-done2
prompt = {'Enter a value of Cost :',Enter value of AOC :','Enter a value of Salvage :'};
dlg_title ="Project 1";

num _lines = 1;



answer = inputdlg(prompt,dlg_title,;num _Jlines);
if isempty(answer) % user cancelled

uiwait(msgbox('You must enter a number to continue’,'Error’ /modal'))

done2=1;
done3 =1;
doned=1;
else

C1 = sir2num(answer{1});
if ~isempty{C1)
ifC1>=0
viwail{msgbox('Please enter a *NEGATIVE* number (C<0),'Error’,modal’))
clse
Al = str2num(answer{2}};
if ~isempty(Al)
ifFAl1>=0
wiwait{msgbox('Please enter a *NEGATIVE* number (A<0),'Error’,modal’))
else
F1 = sir2mun(answer{3});
if ~isempty(F1)
ifF1<0

uiwait{msgbox('Please enter a *POSITIVE* number (¥>0)','Error’,'modal’))

else
done2 = 1;
done3 = 0;
end

else

uiwail(msgbox('Please enter a number with no alphabetical characters', Error’, modal'’))

end
end

else

niwail(msgbox('Please enter a number with no alphabetical characlers', Error’,'modal'))

end
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end

else

uiwait(msgbox('Please enter a number with no alphabetical characters', Error','modal'))

end
end
end
while ~done3
prompt = {'Enter a value of Cost :'/Enter value of AOC !''Enter a value of Salvage ')
dlg_title ='Project 2';
num_lines = 1;
answer3 = inputdlg{prompt,dlg_title;num_lines);
if isempty(answer3) % user cancelled
wiwail(msgbox("You must enter a number (o continue', Error','modal’})
done3 =1;
doned=1;
else
C2 = sir2znum{answer3{1});
il ~isemply(C2)
ifC2>=10
uiwait{msgbox('Please enter a *NEGATIVE* number (C<0),'Error’,'modal'))
else
A2 = strZnimfanswer3{2});
if ~isempty(A2)
ifA2>=0
uiwail(n_lsgbox('Please enter a *NEGATIVE* number (A<0Y,'Error',modal’))
else
F2 = str2num(answer3 {3} );
if ~isemply(F2)
ifF2<0
viwail(msgbox('Please enter a *POSITIVE* number (F>0)','Error', modal'}}
else

done3 = 1;
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doned4=0;
end
else
uiwait(msgbox('Please enter a number with no alphabetical characters','Error','modal’))
end
end
else
uiwait(msgbox('Please enter a number with no alphabetical characters’,Etror','modal'))
end
end
else
uiwail{msgbox('Please enter a number with no alphabetical characters',Error','modal'))
end
end
end
while ~doned

if ~isemply(answer3)

cost=C2-Cl;
AQC = AZ2-Al;
sal =F2-I1;

fprintf(’'d_cost %0.0f\n',cost);
fprintf'd_AOC  %0.00’,AOC);
fprint{(’d sal %0.0f\n',sal);
f = fzero{@my_function,.5,{},AOC n,sal,cost);
i _slar = *100;
fprintf('i* = %0.3M\n\n',i_star)
ifi slar>1
fprintf(siio i* > MARR den1asensh 2nwn)
doned=];
else
fprintf(tile i* < MARR 13onTnsemsh 1)

doned=1;



end
end
end
function val = my_function(is,AOC,n,sal,cost);

val = AOC*((1+is)y*n-1M/(is*(1-+is)*n}+ sal/((1+is)*n)+cosl;

¢ lar d1_a
Hosun 6 msdmnizidandumalsslusAsTuaI

=y gl = w dv
1l lnanseu a9

function input_example?
%% %6 %% %0 % %6 % %16 %0 Y% %0 % Y6 % Y6 %0 % Yo %e Y Yo Y %% Yo Y Yo % % %% Ve Y Y6 Ve % A % 1o Y% % % Y%
% Gel the b values
2% %% % %% %e %% % Ye Yo% Ve Yo Yo Y %o e Yo Y %o % % Y Yo e Ya e Yoo %0 % Yo % o Y Y e Yo% % % % Ve
% Delermine how many b values there are
prompt ='Enler the number of "Beneli" values';
name - ='Step 1 of 3 .
numiines = 1,
num_b = inputdig{prompt,name,numlines};
il isempty(num_b) % user cancelled
viwail(msgbox("Y ou must enter a negative number to continue’,'Emror','modal’))
else
num b = str2num{num_b{l});
% Now gel the b values
prompt = {};
forii= l:num b
prompt = {prompt,sprintf{’Enter the "Benefit" valve # %d',ii)];
end % ii
name ='Step | ol3";
numlines = 1;
b vals = inputdig(prompt,name,numlines);

clearb_vec
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forii=1:num_b
b_vec(ii) = str2num(b_vals{ii});
end % ii
%% %% % %% %% % % %% % % % % % % % %0 % Y0 % % % % %o % % %% %0 % % Y % % Y0 % Y% % Y% % Yo% Y
% Get the d values
%% %% %% % %% % %% %6 %6 %6 % %6 % % % Y6 % % %% % %% % % %% %% % % % % %6 % % Y% % % % % % %o
% Determine how many d values lhere are
prompt = "Enter the number of "Disbenefil” values';
name ='Step 2 of 37
numlines = 1;
num d = inputdlg(prompl,name,numlines);
num _d = sir2Znum{num d{1});
% Now get the d values
prompt = {};
for it = I'num_d
prompt = [prompt,sprintf{’Enler the "Disbenelit” value # %d',ii}];
end % . .
name = 'Step 2 of 3
mumlines = 1;
d vals = inputdlg(promplt,name,numlines);
cleard vec
1or 11 = L:num _d
d vec(il) = sirZnum(d vals{ii});
end % ii
%% %% %% % % % %% % % %% % % Y6 % %% % %% % %% % %6 % % % % % % % % % % % %6 % %% % %%
% Get the ¢ values
%% %% %% % %% %% %% %% % %% % %% %6 % %% % % %% % Y% Y% Yo %% Yo %0 % %0 %% e %% %% %0 % % %% %
% Determine how many c values there are
prompt =’Enter the number of "Cost" values',
name ='Step3 ol 3"
numlines = 1;

mm_c = inputdlg(prempt,name,numlines),
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num_c¢ = str2num(num_c{1});
% Now get the ¢ values
prompt = {};
forii= l:num_c
prompt = {prompt,sprintf('Enter the "Cosl" vakue # %d',ii)];
end % ii
name ='Step 3 of 3";
numlines = 1;
¢ vals = inputdlg{prompt,name,numlines},
clearc vec
forii= l:num ¢
c_vec(ii) =str2num{c vals{ii});
end % ii
be_rat = (sum(b_vec) - sum(d vec)) /sum(c vec);
%resull_string = sprintf{'The B/C Ratio is %0.2f ,bc_rat)
Souiwait{msgbox (resull_siring));
sprintf{*The B/C Ratio is %0.21 be_rat)

end "

¢ Al o ¢
Hasun 7 maInnzngagu:

o g = o
lAanmsioy Aail

- wignRmulasamstand
funclion breakeone
done = 0;
while ~done
prompt = {'Fixed Cost FC','Vanable VC',Revenue R'};
dlg_tille = "Breakeven Analysis';
num_lines = 1;
answer = inputdig(prompt,dlg_title,num_lines);

if isempty(answer) % user cancelled
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uiwait{msgbox('You must enter a number to continue','Error', modal'))
done = 1;
else
FC = str2num{answer{1}};
if ~isempty(FC)
VC = str2Znumfanswer{2} };
if ~isempty(VC)
R = str2num{answer{3});
if ~isempty(R)
Q=breka(FFC,R,VC);
fprilxtﬂ'QﬂﬁunumaaTﬂsqmsf; 19 =%0.2f H1I0W',Q)
done = 1;
else
niwait(msgbox('Please enter a_number with no alphabetical characlers', Error','modal’))
end
else
uiwail{msgbox('Please enler a number with no alphabetical characters', Error', modal'))
end
else
viwail{msgbox('Please enter a number with no alphabetical characters’,'Error','modal’))
end.
“end
end
- Function aumMsHanlumsmuIm

function Q@ = breka(fc,R,ve)

Q=fe/(R-vc);
end
b 2]
- QARNNY 2 MAtaen

funciion breaketwo

] X y W = ) 9y = ; o
K=menu(Fixcost Project I';f 1#91omiinmn < il '/algswivan-aaasminaue’),
% M1 TCl Mudenh 1 %

ifK==
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done=190;
while ~done
prompt = {'Enter a value of first cost (P).",'Enter value of Annual cost (A}, Enler a value of Salev
(F):'’Enter a value of i 'Enter value of n:','Enter value of Variable (VC):'};
dig_title = 'Project 1;
num _lines = 1;
answer = inpuldlg(prompt,dlg_title,num_lines);
if isemply(answer) % user cancelled
viwait(msgbox{"You must enter a number to continue’,Error','modal'})
done =1,
K2=10;
else
P = str2num{answer{1});
if ~isempiy(P)
ifP>=0
viwail{msgbox('Please enter a *NEGATIVE* number (P<0)','Error’, modal’))
else
A= str2num(answer{2));
il ~isempty(A)
F = strZnum(answer{3});
if ~isempty(F)
¥ <0
uiwait{insgbox('Please enler a *POSITIVE* number (F>0),'Error’,'modal’))
else
i = str2pum(answer{4});
if ~isemply(i)
ii<0
viwail(msgbox('Please enter a *POSITIVE* number (i>=0)','Error,'modal’}}
else
n = str2num{answer{5});
if ~isemply(n)
itn<0



end

viwait(msgbox('Please enter
else
VC1 =sir2num(answer{6});
if ~isempty(VC1)
TC I=capilalp(P,i,n)+sinking({

ans=1C1;

) b v
. . ] Y 1 o = 3 ] = o
K2=menu('Fixcost Projecl 2‘,'ﬂﬂ‘nmmmnmqn 49 ﬂ','ﬂﬂ"l’;il’mmnﬁu—ﬂﬂﬂﬁ’dunﬂn‘ﬂ');

done=1;
done2=0;
else

wniwait(msgbox('Please enler a
end
end
clse
wiwail(msgbox('Please enter a
end
end
else
uiwait{msghox('Please enter a
end
end
else
viwait{msgbox('Please enler a
end
else
uiwait(msgbox('Please enter a
end
end
else
uiwait{msgbox{'Please enter a

end

a *POSITIVE* number (n>>0),'Error',' modal"))

Fin+A;

number with no alphabetical characters','Error’'modal’))

number with no alphabetical characters',Error', modal'’))

number with no alphabetical characters','Error’,’modal’))

number with no alphabetical characters','Error',/modal'’))

number with no alphabelical characters', Error’, modal'))

number with no alphabetical characlers', Error','modal’))
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end
else

done =0;
while ~done

prompt = {'Enter a value of first cost (P)'’Enter value of Annual cost (G):','Enter a value of Salev
(F):' 'Enter a value of i, Enter value of n:',Enter value of Variable (VC)'};
dlg title ="Project 1';
num_lines = 1;
answer = inputdig(prompt,dig_title,num _lines);
if isempty(answer) % user cancelled
viwait(msgbox("You musl enter a number to continue','Error’,'modal'))
done=1;
clse
P = str2Znum{answer{1});
if ~isempty(P)
ifP<=0
uiwail{msgbox('Please enter a *fNEGATIVE* number {P>0),'Error' ;) modal'})
else
G = sirZnum{answer{2});
if ~isemply(G)
F = str2num(answer{3});
if ~isempty(F)
i = stir2num(answer{4});
if ~isemply(i)
ifi<=0
viwait(msgbox('Please enter a *POSITIVE* number (i>0),'Error’,modal’)}
else
n = str2num{answer{5});
if ~isempty(n)
VCI1 = sirznum{answer{6});
if ~isempty(VCl)

AG = guse(G,i,n),
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TC 1=capitalp{P,i,n)}sinkingf{F,i,n+AG;
ans=TCl;

] L] L] ar =] 1 1] q‘ g 0.
K2=menu(‘Fixcost Project 2" 1¥0wimiiumn 9 1 midiomisiu-anasminaue?);

done=1;
done2=0;
else

uiwail{msgbox('Please enter a number with no alphabetical characters','Error,'modal’))
end

else

uiwait(msgbox('Please enfer a number with no alphabetical characters','Error','modal'))
end

end

else

viwait{msgbox('Please enter a number with no alphabetical characters','Error','modal’))
end

clse

uiwaitl{msgbox('Please enter a number with no alphabetical characlers','Error','modal’))
end

else

viwait{msgbox('Please enler a number with no alphabetical characters’,'Error’,'modal’))
end

end

else

uiwait(msgbox('Please enter a number with no alphabetical characters', Error’, modal’))
end

end
end
end

L ]

Yo HIANUNUIENINN 2 Tnsant %

if K2==1

while ~done2
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prompt = {'Enler a value of first cost (P):','Enter value of Annual cost (A)!','Enter a value of Salev
(F),'Enter a value of i:',Enter value of n:','Enter value of Variable (VC):'};
dlg_title ="Project 2';
num lines = 1;
answer 2 = inputdlg{prompi,dlg_title,num_lines);
if isempty{answer 2) % user cancelled
niwail{msgbox("Y ou must enler a number to continue','Error,'modal’))
done? = 1;
else
P2 = str2num(answer_2{1});
if ~isempty(P2)
ifP2>=10
viwait{msgbox('Please enter a *NEGATIVE* number (P>0),'Error’,'modal’))
clse
A2 = str2num(answer_2{2});
i ~isempty(A2)
F2 = str2Znum(answer 24{3});
if ~isempty(F2)
i2 = str2num(answer 2{4});
if ~isemply(i2)
ifi2<=0
viwail{msgbox('Please enter a *POSITIVE* number (i>0),'Error',/modal’))
else
n2 = str2num{answer_2{5})
if ~isemply(n2)
VC2 = str2num(answer_2{6});
if ~isempty(VC32)
TC2=capitalp(P2,i2,n2)+sinking{F2,i2,n2 )+ A2;
Q=(TC1-TC2HH(VCI-VC2);
fprintfCIARUN Q = %0.0f\n',Q)
done2=1;

else



end

end. .

uiwait(imsgbox('Please enter a number with no alphabetical characters','Error’,'madal’))
end

else

viwait{msgbox('Please enter a number with no alphabetical characters','Error’,'modal’})
end

end

else

viwait{msgbox('Please enter a number with no alphabetical characiers', Error','modal'))
end

else

viwait{msgbox('Please enter a number with no alphabelical characters', Error','modal'’))
end

clse

uiwail{msgbox('Please enter a number with no alphabetical characters',"Error','modal"))
end

end

else

uiwait{msgbox('Please enter a number with no aiphabetical characters', Exror’,'modal’))

end

elseif K2 ==

while ~done2

prompt = {'Enler a value of first cost (P).",'Enter value of Annual cost (G):''Enter a value of Salev

(F):','Enter a value of i?",Enter value of n:'Enter value of Variable (VC)'};

dig_title = "Project 2';

mim_lines = |;

answer 2 = inputdlg(prompt,dlg_title,num_lines);

if isempty(answer_2) % user cancelled

viwail(msgbox("Y ou musl enter a number to continue’,'Error','modal’))

done2 = 1;

else
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P2 = sir2Znum{answer_2{1});
if ~isempty(P2)
ifP2<=0
viwail{msgbox('Please enter a *NEGATIVE* number (P<0),'Error',/modal'))
else
G2 = str2znum(answer 2{2});
if ~isempty(G)
F2 = sirZnum(answer 2{3}),
if ~isemply(F2)
i2 = str2Znum{answer 2{4});
if ~isempty(i2)
ifiz2 <=0
uiwait{msgbox('Please enter a *POSITIVE* number (i<0),'Error’,'modal’))
else
n2 = str2numf{answer 2{5});
i ~isempty(n2)
VC2 = sir2num(answer_2{6});
i ~isemply(VC2)
AG2 = guse(G2,i2,n2);
TC2=capitalp(P2,i2,n2)+sinkingf(I°2,i2,n2)+ AG2;
Q=(TCIl - TC2)/-(VC1-VC2);
fprintfraAnUNY Q — %0.0f\n',Q)
done=1;
done2=0;
else
uiwait{msgbox{'Please enter a number with no alphabetical characlers','Emror’, inodal’))
end
else
uiwait{msgbox{'Please enter a number with no alphabetical characlers','Error’,’modal’))
end
end

else
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uiwait(msgbox('Please enler a number with no alphabetical characters','Error’,'madal’))
end
else
uiwait(msgbox('Please enter a number with no alphabetical characters','Error', modal’))
end
else
viwait(msgbox('Plcasc enler a number with no alphabetical characters',Error','modal')}
end
end
else
uiwail(msgbox("Please enter a number with no alphabelical characters', Emor',’'modal’))
end
end
end
clse
%% %% %% %% % Yocancel %% % %% % %%
end. - -
- Functign tmmiﬂfl'nﬁlum‘sﬁnnu

function AP = capilalp(P,i,n)

c=i/100;

AP =P*{(c*(1tc) n)/(({1+c)*n)-1));

end

function AW = sinking[(F,i,n}

c=i/100;

AW = FHc/((14c)yn)-1));

cnd

function AG = guse(G,i,n)

c=1/100;

AG=G*((1/c)-(n/((1+cy*n -1))

end
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